READ ALL INSTRUCTIONS COMPLETELY AND THOROUGHLY UNDERSTAND THEM BEFORE DOING ANYTHING.
CALL TOTAL CONTROL PRODUCTS TECH SUPPORT (916) 388-0288 IF YOU NEED ASSISTANCE.

TCP HOSE-03 HOSE SUPPORT BRACKET

HOSE-03 - Hoses Support Bracket Kit

Qty

Part Number

Description

3101-019-32S

Locknut 10/32 stainless steel

3105-019F0.75S

Flat head 10-32 x 3/4” cap screw

1

1

1 3157-019S-S #10 flat washer stainless steel

2 3475-07-C Clamp 7/16” tube (use with TCP-HOSE-02, stainless steel)
2 3475-11-C Clamp 11/16” tube (use with TCP-HOSE-01, blue)

1 7900-278

Hose bracket power steering

The bracket attaches to the motor mount bolt
and supports the power steering hose as they
run along the oil pan. Use the smaller clamp for
the stainless steel hoses and the larger for the

blue hoses.

7903-HOSE-03

REV 01/21/11

READ ALL INSTRUCTIONS COMPLETELY AND THOROUGHLY UNDERSTAND THEM BEFORE DOING ANYTHING.
CALL TOTAL CONTROL PRODUCTS TECH SUPPORT (916) 388-0288 IF YOU NEED ASSISTANCE.

TCP HOSE-03 HOSE SUPPORT BRACKET

HOSE-03 - Hoses Support Bracket Kit

Qty

Part Number

Description

3101-019-32S

Locknut 10/32 stainless steel

3105-019F0.75S

Flat head 10-32 x 3/4” cap screw

1

1

1 3157-019S-S #10 flat washer stainless steel

2 3475-07-C Clamp 7/16” tube (use with TCP-HOSE-02, stainless steel)
2 3475-11-C Clamp 11/16” tube (use with TCP-HOSE-01, blue)

1 7900-278

Hose bracket power steering

The bracket attaches to the motor mount bolt
and supports the power steering hose as they
run along the oil pan. Use the smaller clamp for
the stainless steel hoses and the larger for the

blue hoses.

7903-HOSE-03

REV 01/21/11




